P E KFR 2022 FHEFARAERBAEMFBRD

GBE L

T B & F %
BB : 1. AR T E LA AL, BUs, MEREREHR I EE 24
F R =90 4 FAL R ELFE—L=70 5, %%:-/Zzso'n\
2. BIEFI: SR T @ELE—&, EoRIERER;HK, MHEEHE10 5,

MBER, REER, BR, B3R, &AL A3
FEBRM: . BTG E LML, Bos., MiEfB R ESXE B R oH% (40 44, 40 4, 361 52
FLiR=90 4 ERLHELE—L=704, %= 4%=804%;
2. AR TR SHART@FLE— 4, ERBBRSHKEK, IMEEAE 10 5

% EF%
RBBEN: 1. BT mE LA AL, Bus, SMERER LRI ERE oM % (40 4, 40 4, 361 5°);
+ iR =90 5;
2. AR TI: SHARTCFLE -4, ERBBRSHKEK, IMEEAE 10 5

TREFER
%Ex},?‘ﬂl] Bog, MEARERE SRR B R, E (40 4, 40 5, 361 )
£ iR =90 4 %Jk =393 4.

BAFK
RBURM : 1. BAF: 808, MERERESRI B R oH & (38 4, 3873\ 273 »
iR =90 4, %k“’\ﬁééﬁ?fﬁmkﬁ% b B 55 =377
2. B 5 AR % ﬁi/m IriEFe B REN LB E Ry (385 /\ 38 4, 273 )
EWiE=90 5, FLRESAWRS AR F T @A KHEF, 45—11'.,3’7:\2380 2o
3. RZ BH%F: ii«m ShERERESREE R H% (384, 384, 273 4);
EFWiR=90 4, FLESAERNFTENRFZTEA KHELS, FLEH=373 5
4, %3 Bus, MERERESRIERH & (40 4, 4045, 361 4°);
ﬂ?_llf_lﬁ‘f%>90 o, FLESAEXFFTOANRHER, FTLEHS=376 5
FEM: BUs, NERFEBRESEXIE RS HKA (334, 334, 252 4);
%—1&%290 o, FLRESARNZTRAMKRT SN KRBT, FLEHS=373 5.

—
.o

it R
RIBRR: BT ™, BE, IMERERE LI E L% (409, 40 %, 361 2);
FiR=90 5, FLEH =517 5,

E R
REBURN : &0 Trwe, Big, MERERES LI E RS HE (40 4, 404, 361 4°);
’?ﬂkiﬁ%>90 /\ —?_Lkl%):l&‘/jn NN 7] 488 7]\0

[

ALFIE
FKEBEW: BUE, SMERERE SR ERXoHK (40 4, 40 4, 361 %), Hb B 45=>480 4,
iR =90 4; @K =120 4.



TRAREEEHFTFR
FEUBW : BUe=40 4, 98E=50 4, BEEH> =361 49 L 1iE
+ R =90 4 ; @iX=120 %,

£F AL
FEBN: BUs, MERERES> LI ER)HE (40 4, 40 %, 361 %), L E4=378
iR =90 4; @K =120 4.

TR
Y ¢ RAEE T2

FERN: BRES=25145, BE=40 4, sME=30 4 XiE=60 4 ; Hif =90 4
1.PE&FE, @A, REFZ, BB AR, Ba i, EAFHAERIR, BEFR
£ R £# =70 5
“P.u:j‘-leu’i\;‘ll'_ﬁﬁ? 35 4
B 7 E kB 4 =26
}f)iu%"?ﬂ’. =4
%ﬁ%?i”ﬁZ
=43
_g_
SN

[
>
WV
N
~
o
3

:ﬁif*ﬂ%m

AL B 5 =517 5.
5. W&t

+ 0 %5 =480 4
6. AL FI%

b B =425 5,
7. ZREREHFFE

b B =425 5,

B KFE LRI
FKBRN: B, SMERERESERIE R oK%K (40 4, 40 5, 361 4); HiR=90 4,
1. % .L—I%Fﬁ;
£REH=90 4, HLEH=535
2. h & A
ERLE=90 4, FikEH=264,
3.kt
4 5 =517,
4. TREEEHEFFIR
0k B =460 5



’;“ %&é\\ %"}%‘éi
.8

6kt
FRUR M :

71\1\:7 /35 /\
S E . B

—_

RAKIEZT0 2 FARIR=90 705
Mo B E b B =475 4
R R % Ak §.5> =480

2 RBEKER

FWiR=90 4, HLEH

3. kit

+ iR =90 4, FEH

4. ALFIZ 57}’\75.‘&1
FWIR=70 5, FLE

*ﬁVH'EP#Z\ @12\‘)5&‘,51

5#%F

=

70 5

=393 4

517 5%
?%

330 4.

2 ~ i
B =

155

AN

7] o

FRERFRBAEL
202254 A1 H



